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Explain the series of events that set India on a higher
growth path in the early 2000s and the subsequent
growth decline thereafter.

“In a poor developing country, the touchstone of
successful economic performance is poverty
alleviation”. Discuss this statement in the context of
India since 1980.

What are the policies and reforms needed for
enhancing farm income and making Indian agriculture
more inclusive and sustainable?

India has grown in world trade as well as Global
Value Chain (GVC) participation during the period of
2005 to 2015. Illustrate this statement.

The accumulation of demographic dividends and
deposits holds significant potential for achieving
prosperity, although certain underlying factors may
act as counterforces to realizing the intended
outcomes. Discuss.
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Explain the developmental foundations of labour laws
between 1947 and 1965. What kind of outcomes
disrupted this pattern after 1965?

Analyse the idea of the public sector and its
performance record during the Nehru period within
the broader project of overall resource mobilisation.
The role of primary education was largely neglected
during this era. Do you agree with this viewpoint?

Substantiate your answer with relevant data.

Elaborate on the key areas of focus and strategic
trade priorities that can enhance India’s trade potential
in the context of a rapidly evolving global economic

landscape.
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